

Republic of the Philippines Department of Education REGION XII SCHOOLS DIVISION OF SARANGANI

INVITATION TO BID FOR

Procurement of DRRM's Safety and Emergency Supplies and Equipment

1. The *Department of Education-Sarangani Division*, through the *OSEC 12-23-4254 Fund* intends to apply the sum of *FOUR MILLION SEVENTY-THREE THOUSAND THREE HUNDRED AND 0/100 PESOS (Php 4, 073,300.00)* being the ABC to payments under the contract for the *Procurement of DRRM's Safety and Emergency Supplies and Equipment* (2023-11-0073) broken down as follows:

Unit	Item Description	Quantity	Unit Cost	Total Cost
unit	Spine Board with Strap	20	4,500.00	90,000.00
	Specs:			
	Material: Fiber			
	Load Capacity: 160 kg			
	Length: 6 ft			
	with holes around the stretcher for convent			
	transportation			
	on-head end there is a space to fix head mobilizer			
	floats in water			
	spider strap with two safety belts			
	with standard size DepEd MATATAG logo sticker or printed			
	on the board All items found defective after sales must be replace within 7			
	days			
unit	CPR Mannequin Model for Adult	1	5,500.00	5,500.00
	CPR Mannequin Model for Infant	1	5,500.00	5,500.00
	Specs:			
	Model: IM 13-R or IM16			
	Display visual flow of blood from the heart to the brain			
	Connectivity/data sensor collection			
	Chest compression depth and speed measuring sensor			
	Chest movement with ventilation			
	Head tilt and chin lift for opening airway			
	Airways system (non-breathing with disposable lungs)			
	Ribs, Xiphoid			
	Audible feedback			
	Length 59 cm			
	6.8 lbs (including batteries)			
	Relative humidity between 5% and 95%			
	Warranty: 2 yrs			
	Power: AC adapter (input AC 100-260V, Output DC			
	9V 1A) Battery C Type (6 batteries)			
I	Professional mannequin approved	I	l	l

LOT A

l				l
	All items found defective after sales must be replace within 7 days			
	Warranty services within 1 year with standard size DepEd MATATAG logo sticker on mannequin			
unit	Portable First Aid Kit Specs and content: 1 roll gauze pad (4inchx10m) 1 pack gauze pad (100pcs) 2 roll ellastic bandage 1 pc emergency blanket 1 pack antiseptic wipes 1 pack bandages 2 rolls adhesive tape 1 pc thermometer 1 set safety pin for arm sling (10pcs) 5 pcs traingular bandage 1 box gloves 2 pairs scissors 2 pcs tweezers 1 book first aid manual with free bag (maroon bag) with standard size DepEd MATATAG logo printed on the bag All contents must be complete and brand new per bag All items found defective after sales must be replace within 7 days	50	1,880.00	94,000.00
unit	Portable Choking Device- Postable Suction Rescue Device First Aid Kit for adult (1) and infant (1) Specs: with 3 sets suction device for adult and kid 1 pack adult mask 1 pack pedriatic mask 1 instruction manual for use Material: plastic With free bag (zipper bag-maroon color) With standard size DepEd MATATAG logo printed on the bag All contents must be complete and brand new per bag All items found defective after sales must be replace within 7 days	1	5,500.00	5,500.00
unit	Trauma Bag with 40 kinds Specs and content: 1. Hand suction pump 1 pc 2. Resuscitator bag 1 pc 3. CPR pocket mask 1 pc 4. Guedel airway #0, #3 2 pcs 5. Clinical thermometer 1 pc 6. Mouth opener 1 pc 7. Disposable syringe 10cc 2 pcs 8. Tongue forceps 1 pc 9. Blade scalpel 1 pc 10. Blood lancet 2 pcs 11. Wooden tongue depressor sterile 5 pcs	60	15,000.00	900,000.00

			1	
	12. surgical scissors 1 pc			
	13. Dressing tweezers 1 pc			
	14. Safety pins 10 pcs			
	15. Sterile latex gloves 2 pairs			
	16. Sphygmomanometer 1 pc			
	17. Stethoscope 1 pc			
	18. Malleable splint 1 pc			
	19. Turnique retractable 1 pc			
	20. lce bag 6" 2 pcs			
	21. Alcohol pre pads 30 pcs			
	22. Povidone pre pads 10 pcs			
	23. Antiseptic towelette 5 pcs			
	24. Wet tissue (soap) 5 pcs			
	25. Neuro hammer taylor 1 pc			
	26. Surgical tape 1/2" 3 pcs			
	27. Eye pad sterile 5 pcs			
	28. Triangular bandage 2 pcs			
	29. Gauze pad 3x3 sterile 10 pcs			
	30. Cotton ball 5g 5 packs			
	31. Plastic strips 50 pcs			
	32. Cotton Applicator sterile 20 pcs			
	33. Elastic bandage 3" 3 rolls			
	34. Compressive pad bandage 100mm 1 roll			
	35. Compressive pad bandage 80mm 2 rolls			
	36. Elastic Crepe bandage 2" 2 rolls			
	37. Elastic crepe bandage 4" 2 rolls			
	38. Emergency cold blanket 2 pcs			
	39. Diagnostic penlight 1 pc			
	40. Disposable wastage bags 3 pcs			
	with free bag (maroon bag)			
	with standard size DepEd MATATAG logo printed on the			
	bag			
	All contents must be complete and brand new per bag			
	All items found defective after sales must be replace within 7			
	days			
unit	Family Go Bag	50	1,000.00	50,000.00
	Specs and content:			
	1 pc Drawstring backpack			
	1 pc Hardhat			
	1 pc Mini flashlight			
	1 pc Whistle			
	1 set Emergency Infographics (betting and survival tipe)			
	1 set Emergency Infographics (hotline and survival tips)			
	1 Raincoat			
	1 pc Water bottle			
	1 set Age-appropriate first aid kit (band-aid, alcohol,			
	gauze pad, clinic tape, povidione-iodine prep pad, cotton)			
	All contents must be complete and brand new per bag			
	All items found defective after sales must be replace within 7			
	days			
	with 1 bag (airlight and waterlight bag-maroon color)			
	with standard size DepEd MATATAG logo printed on the			
	bag			
	=	i	1	1
unit	Aquatic Gear Rescue Life Vest	25	2,740.00	68,500.00

	Grand total for Lot A			1,499,000.00
	All items found defective after sales must be replace within 7 days With printed standard size DepEd MATATAG Logo at the back of the every vest			
unit	Traffic Vest Specs and content: Adult Reflective Vest Flourescent Strips Outdoor Safety Vest with High Visibility	290	500.00	145,000.00
	Herringbone double pressure to strengthen the support reducing the shaking of the ladder All items found defective after sales must be replace within 7 days with standard size DepEd MATATAG Logo sticker on every item			
unit	Ladder (Multi-purpose) Specs and content: Multi-purpose aluminum 20 ft foldable ladder Material: 1.2MM super thick aluminum Sturdy heavy duty step lad Type: Double side ladder Changeable shape: A shaped, M shaped ladder, bridge type, fold so Bearing weight: 500 kg Folding storage Rubber materials soft foot pad strong non-slip All running sticks are double riveted to double protection Easy to move and carry Suitable for various scenarios	30	4,500.00	135,000.00
	Specs and content: PFD Type: Type III Fabric polyester Boouyancy material: PE foam (25 lbs. high bouyancy) Layered floatation foam increases comfort to improve operational performance both in and out of the water With flourescent accents to improve visibility Drag handle Quick donning with 7 adjustment tabs to create a customized fit for users with chest sizes from 30-58" Two large self-draining deep pockets provide ample storage and to hold radios Quick release belt Scalloped neckline to accommodate ratchet adjustable helmets Assorted sizes in small (5), medium (5), large (10) and XL (5) All items found defective after sales must be replace within 7 days with standard size DepEd MATATAG Logo printed on the vest			

LOT B

LOT B Unit	Item Description	Quantity	Unit Cost	Total Cost
unit	 Play Kit (for Psychosocial First Aid) Specs and content: 10 pcs stress ball, 7 cm diameter 1 ready kit stuffed toy and storybook for Elementary 1 ready kit coloring book for secondary 5 pcs puzzle 2 pcs musical instrument (eg. Maracas, tambourine, ukelele) 1 set emotion cards 10 pcs fidget toys (for SPED learners) 2 pcs board game 1 box plastic container All items found defective after sales must be replace within 7 days All contents must be complete and brand new per container with standard size DepEd MATATAG Logo sticker on the box/container 	2	6,000.00	12,000.00
unit	Teacher Kit Specs and content: 1 pc plastic utility/storage box 3 reams bond paper A4 size 2 reams bond paper legal size 1 ream colored paper A4 size 5 pcs Expandable brown envelope (long, w/o handle) 5 pcs expandable plastic envelope (long, w/o handle) 10 pcs folder long 1 pc class record (big) 5 rolls masking tape (1") 1 pc stapler (no. 35) 3 boxes staple wire (no. 35, 5000s) 1 pc whiteboard eraser 3 pcs whiteboard marker (1 pc per color: black, blue, red) 1 pc musical instrument for PFA (maracas, tambourine, ukelele) 1 pc stress ball, 7 cm diameter 4 bottles printer in (EPSON 001) -black, magenta, cyan and yellow 1 pc flashdrive (32GB) 1 pc whistle 1 pc raincoat 2 box surgical mask 2 bottle alcohol (500ml) 1 pc handsoap All contents must be complete and brand new per box All items found defective after sales must be replace with standard size DepEd MATATAG Logo sticker on the box	50	7,000.00	350,000.00
unit	Learner Kit Specs and content: 10 pcs notebook, no sping, 80 leaves 2 pcs pad paper 1 pc ruler	50	1,700.00	85,000.00

	Grand Total for Lot E	3 447,000.00
All itesm found defective must be replace within 7 days with standard size DepEd MATATAG logo sticker on the box		
backpak		
All contents must be complete and brand new per		
1 pc backpack		
1 pc stuff toy or story book		
1 pc stress ball, 7 cm diameter		
1 bottle shampoo (30ml)		
1 pc toothpaste (100ml)		
1 pc toothbrush		
1 pc face towel		
1 pc flashlight		
1 pc whistle		
1 pc hand soap		
1 bottle alcohol (150ml)		
2 boxes surgical mask		
1 pc raincoat		
1 pc scissor		
1 box crayons 12 colors		
3 pcs pencils		
1 pc pencil case		
1 glue stick 3 pcs ballpens (red, blue, black)		
1 pc transparent plastic envelope		
1 pc pencil sharpener		
1 pc rubber eraser		

LOT C

LO' Unit	Item Description	Quantity	Unit Cost	Total Cost
unit	Early Warning Device-Siren Specs: a.Multi Sound Siren, 600W Heavy duty with PA Amplifier b.4 pcs 20 inches trompa with 200W Driver Unit c.1 length GI pipe with fabricated steps, 2" sch. 40 fabricated housing (to project the trompa) e. 1 pc. 9 plates battery f. 1 pc power supply (30 amps) See attached perspective for specific details (Annex A) -Free orientation to school in charge on the usage and management -Free installation of all items to school -With standard size DepEd MATATAG logo sticker on every amplifiers -All items found defective after sales must be replace within 7 days -Warranty services within 1 year	8	42,250.00	338,000.00
unit	Portable Public Address System Re-chargeable Sound System 200W AMP With Dual VHF MIC, USB, SD, FM and Bluetooth Brand New. Original Features: 12" active speaker system provide excellent vocal and bass performance rugged plastic mmodel design cabinet buttom pole mount for tripod stand signal loop for extended system application USB/FM/Bluetooth function multiple handle for easy transport Specs: Type: 2 way bass reflex LF: 12" woofer (2 voce coil size) HF: 1.5" titanium tweeter Input connector: Line 9rca and xlr) mic (6.5mm pl jack) AC input: 220V-5-60Hz Man power:200 Watts Impedance: 8 ohms Sensitivity: 98dB frequency response: 45Hz-20KHz Dimension:34x30x58mm Items found defective after sales must be replace within 7 days Warranty services within 1 year	29	11,500.00	333,500.00
	with standard size DepEd MATATAG Logo Sticker per item			333,500.00
		Grand T	otal for Lot C	671,500.00

LOT D

LOT D				
Unit	Item Description	Quantity	Unit Cost	Total Cost
unit	Fire Extinguisher Specs and content: 10 kg dry powder-temperature range of 30C/60C Nominal Charge 10kg.	40	1,885.00	75,400.00
	with standard size DepEd MATATAG Logo Sticker on every fire extinguisher All items must be brand new All items found defective after sales must be replace within 7 days			
	All items must be refillable			
				75,400.00
unit	Fire Cabinet and Fire Hose Specs and content: Material: Carbon steel Thickness: 1.0mm/1.2 mm/1.5mm Hose rack Assembly Size: 40mmx30mmx65xxx30mm Cabinet dimension: 800x700x160cm Length of hose accommodated by cabinet is 50ft or above Hose mounting in cabinet Semi automatic hanging	58	7,800.00	452,400.00
	All items found defective after sales must be replace			
	within 7 days With standard size DepEd MATATAG sticker per			
	cabinet			452,400.00
unit	Electric Power Sprayer High Power Water Pressure Spray Specs and content: Advance Power High Pressure Washer Cleaner Motor power: 2,100W Max. pressure: 140 bar Max flow rate: 45 I/L Inlet water temperature: 40C Self priming capability: 0.5m Detergent system: High pressure foam Motor type: induction Pump type: 3 cylinder Pump material: all metal Cable length: 5 m Hose length: 5 m Hose length: 8 m Lances: Lance Nozzles: 3in 1 nozzle Detergent nozzle: 550 ml Hose reel: Manual Voltage: 230/240V Frequency: 50/60 Hz Weight (without accessories) 17.6 kg	58	16,000.00	928,000.00
	All items found defective after sales must be replace within 7 days			
	Warranty services within 1 year			

With standard size DepEd MATATAG sticker on every unit		928,000.00
	Grand Total for Lot D	1,455,800.00

Bids received in excess of the ABC shall be automatically rejected at bid opening.

2. The *Department of Education-Sarangani Division* now invites bids for the above Procurement Project. Bidders should have completed, within *three (3) years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders)*

3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "*pass/fail*" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.

a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.

5. A complete set of Bidding Documents may be acquired by interested Bidders on November 10, 2023 to December 5, 2023; from the given address below upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (5,000.00) for Lot A, Five Hundred Pesos (500.00) for Lot B, One Thousand Pesos for Lot C and Five Thousand Pesos (5,000.00) for Lot D

6. The *Department of Education-Sarangani Division* will hold a Pre-Bid Conference¹ on **November** 21, 2023; 10:30 A.M. thru virtual platform Microsoft Teams which is open to all interested prospective bidder. Please inquire at the given contact person and numbers below for the link and other concerns.

7. Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below, on or before **December 5, 2023; 9:00 A.M.** Late bids shall not be accepted.

8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.

9. Bid opening shall be on **December 5, 2023 9:01 A.M.** thru blended platform face-to- face and online for Bids and Awards Committee, Technical Working Group Members and BAC Secretariat at *DepEd New Division Conference Room, Capitol Compound, Alabel, Sarangani Province* while virtual platform Microsoft Teams to all prospective bidders and bidders' representatives who choose to attend the activity

10. The *Department of Education-Sarangani Division* reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

11. For further information, please refer to:

FELIPE B. TUYOGON, JR. Department of Education-Sarangani Division Capitol Compound, Alabel, Sarangani Province Tel No./Telefax No. 083-508-2039 Mobile No. 09229763957 Procurement.sarangani@deped.gov.ph



¹ May be deleted in case the ABC is less than One Million Pesos (PhP1,000,000) where the Procuring Entity may not hold a Pre-Bid Conference







